=\ 3
f%“\ eco
2)) | pnss

1 ) PORT. shager

Product Environmental Profile

Push-button module 1gang, bus coupling unit, KNX-W.1, light grey/grey
gl./mat

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification During a reference service life of 10 years, the product provides manual control commands through an
WNT331 electronic push-button sensor. The device is supplied by the KNX Bus and can be configured via KNX
dedicated software such as ETS. It is designed for indoor applications, with a degree of protection IP20 and

) an aneratina temneratiire ranae of —AN°C tn +30 °C
Use scenario based on :

PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.15 Other Equipment product.

PEP ecopassport 1/5 HAGE-01478-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others

% %
PC 10.97 13.7% Copper 1.15 1.4% Cardboard 30.28 37.7%
PP 4.72 5.9% Tin 0.44 0.5% Paper 15.41 19.2%
Epoxy resin 2.59 3.2% Aluminium 0.23 0.3% Glass fiber 3.88 4.8%
PE-LD 1.88 2.3% Cast iron 0.22 0.3% Wood 1.91 2.4%
PAG6 1.40 1.7% Aluminium 0.21 0.3% Paper 1.90 2.4%
Other 0.33 0.4% Other 0.61 0.8% Other 2.23 2.8%

Total mass of reference product with raw material 80.36 g

packaging :

Total mass of reference product
(Product + packaging)

7639

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Installation Use End of life Module D

Manufacturing

o
c
. ©° 7
> (0]
= = o 20 =
5 2 c < - 5 £ £ 28 g
S o E] s S C
T, 8 2 2 °38 © 3 | 8 g5
3 (=2 © © T -— |2} [=4 -
g c e 25 55 Ss 3 € c £8 28 5 20 o2 g8
A7) @ = c 20 @ S g = k] e 25 — e}
2 s aQ c a © 2 c . ] @ = = 7] T =
2 S o 5 o £ ] = s @
28| E g £ S o= s 5 £ £ Ev | 2% 8 5% | 8= T E
s 9 ° g 5w B 55 S a8 3 5 S o o It} 290 & I3 T 5
S8 2 8 2% el ] ko) 9 S 29 A 8 e Z ®
35 = =1 = @ T O 51 c x ° @ = = 2} c = 5 2 @ o 2
L s c =4 S = o =1 k= Qe — 8 E=A)
o o o o O © o} o 2 5} [a] &=
T o = ] 7081 2} 5 = 15} 4 o2 oo o] g7} S @ o o
E g t = ol £3 S = 12 £ oS a g g2 c £
=z ® I3 ) o &2 3 5 = Eg ]
T @ < < =1 = 2o ) T 0 c
[\4 c = = g o E=t Eg o
° w = =2 Y
= 2 <
k3

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100.0% 0 0.0% 0.114 100.0% 0 0.0% 0 0.0%

This corresponds to a total energy consumption of 9.99 kWh for the use span of 10 years.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

PEP ecopassport 2/5 HAGE-01478-V01.01-EN



Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 41%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.2-4 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4
Europe Europe Europe Europe

Environmental impact indicators

A A Manufacturing Distril on Installation (VET:Y End Of Life

Indicators Unit A1-A3 Al A5 B1-B7 ci-ca | GLOBAL Module D
Acidification (PEF-AP) mole H+ eq. 7.76E-03 2.08E-05 1.58E-04 2.11E-02 1.19E-04 2.92E-02 -3.49E-05
Climate change - Total (PEF-GWP) kg CO2 eq. 1.52E+00 1.32E-02 1.22E-01 4.04E+00 5.81E-02 5.75E+00 -2.71E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -5.87E-02 5.40E-08 7.29E-02 8.92E-02 2.02E-03 1.05E-01 -2.32E-04
Climate change-Fossil (PEF-GW Pf) kg CO2 eq. 1.568E+00 1.32E-02 4.90E-02 3.95E+00 5.61E-02 5.65E+00 -2.69E-02
Climate change-Land use and land use change
(PEF-GWPIu) kg CO2 eq. 2.23E-05 1.99E-08 3.97E-10 0.00E+00 2.12E-10 2.24E-05 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) CTUe 6.62E+01 3.85E-01 6.98E-01 6.05E+00 9.74E-01 7.43E+01 -4.87E-02
EF-particulate Matter (PEF-PM) '”g:::;‘g:;’f 4.55E-08 1.79E-10 9.31E-10 1.65E-07 1.19E-09 2.13E-07 -1.01E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 6.65E-06 4.93E-08 6.66E-07 9.67E-06 4.65E-07 1.75E-05 -2.90E-07
Eutrophication, marine (PEF-Epm) kg N eq. 8.95E-04 3.78E-06 6.34E-05 2.47E-03 2.75E-05 3.46E-03 -8.21E-06
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 1.02E-02 4.14E-05 4.73E-04 3.96E-02 2.93E-04 5.07E-02 -9.79E-05
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.26E-08 2.58E-12 5.29E-09 4.99E-10 8.75E-09 2.71E-08 -7.47E-12
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 2.59E-08 4.93E-11 1.55E-10 1.18E-08 1.22E-09 3.91E-08 -7.46E-11
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 3.80E+00 4.67E-04 7.46E-03 5.28E+00 1.30E-03 9.09E+00 -9.24E-02

use (PEF-LU) No dimension 7.65E-02 5.64E-05 1.81E-04 1.07E-01 3.57E-02 2.19E-01 -1.49E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.89E-07 1.60E-10 7.37E-10 1.73E-08 2.55E-09 2.10E-07 -4.48E-10
(F:‘g‘;‘fg(‘)ec"‘;fa' ozone formation - human health ;¢ NMVOC eq. 2.91E-03 1.34E-05 1.08E-04 7.84E-03 8.22E-05 1.09E-02 3.21E-05
Resource use, fossils (PEF-ADP) MJ 2.02E+01 2.34E-01 5.14E-01 9.68E+01 3.24E-01 1.18E+02 -2.59E-01
REETTED (L (E S AW 1.526-04 4.70E-09 2.71E-09 1.31E-06 1.36E-07 1.53E-04 -3.87E-09
(PEF-ADPe)
Water use (PEF-WU) 5.51E-01 4.75E-04 4.28E-03 3.06E-01 2.74E+00 3.60E+00 -4.88E-01
Resource use indicators
A Manufacturing Distribution Installation (VETY End Of Life

Indicators A1-A3 Al A5 B1-B7 ci-ca | GLOBAL Module D
Net use of fresh water 1.28E-02 1.11E-05 3.23E-04 7.15E-03 8.12E-02 1.01E-01 -1.42E-02
Total primary energy 2.29E+01 2.35E-01 5.83E-01 1.19E+02 3.41E-01 1.44E+02 -4.79E-01
Total non renewable primary energy 2.02E+01 2.34E-01 5.14E-01 9.68E+01 3.24E-01 1.18E+02 -2.59E-01
Total renewable primary energy 2.67E+00 7.38E-04 6.90E-02 2.27E+01 1.73E-02 2.54E+01 -2.20E-01
Non renewable primary energy used as energy 1.90E+01 2.34E-01 5.14E-01 9.68E+01 3.24E-01 1.17E+02 -2.59E-01
G T I e O 1.47E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.47E+00 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.85E+00 7.38E-04 6.90E-02 2.27E+01 1.73E-02 2.46E+01 -2.20E-01
Renewable primary energy used as raw material 8.26E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 8.26E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5

HAGE-01478-V01.01-EN



Waste category indicators

Indicators A1-A3

1.88E+00

Hazardous waste disposed

Manufacturing

Distribution

Ad
5.52E-05

Installation

A5
3.38E-03

B1-B7
1.11E-01

C1-C4
1.10E-02

End Of Life |

[c]Re)-7.\R

2.01E+00

-3.17E-17

3.75E-01

Non hazardous waste disposed

1.22E-03

1.40E-02

6.08E-01

3.37E-04

9.99E-01

-6.33E-17

Radioactive waste disposed 1.61E-04

9.69E-07

3.20E-06

1.43E-04

8.75E-08

3.09E-04

0.00E+00

Output flow indicators

Indicators A1-A3

Manufacturing

Distribution

A4

Installation

A5

B1-B7

C1-C4

End Of Life |

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 8.69E-04 0.00E+00 4.52E-03 0.00E+00 9.00E-05 5.48E-03 0.00E+00
Materials for recycling 2.20E-03 0.00E+00 3.68E-02 0.00E+00 8.20E-04 3.98E-02 0.00E+00

Biogenic carbon content

Packaging

Biogenic carbon content (ratio)

2.80E+01

Cardboard

3.78E+01

3.95E+01

3.03E-02 1.73E-02 1.91E-03 4.95E-02
Biogenic carbon content (declared unit) 8.48E-03 6.54E-03 7.54E-04 1.58E-02
Biogenic carbon content (functional unit) 8.48E-03 6.54E-03 7.54E-04 1.58E-02

ADEME APESA/RECORD EN 16485

Prod abo a Pap ood

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon content (declared go 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon conte ona go 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Registration N°: HAGE-01478-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

PSR-0005-ed3.1-2023 12 08

Verifier accreditation N°:  VH65

Information and reference documents: www.pep-ecopassport.org

Date of issue: 3-2026

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019

The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :
The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete

application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/5

HAGE-01478-V01.01-EN




Appendix

R) - [kg Bq U235 eq.]

rgy used as raw material - [MJ]

on, marine (PEF-Epm) - [kg N eq.]
Exported energy - [MJ]
Land use (PEF-LU)
Materials for recycling - [kg]
Net use of fresh water - [m3]
(PEF-ADPe) - [kg Sb eq]
Total primary energy - [MJ]

Components for re-use - [kg]
Hazardous waste disposed - [kg]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, minerals and metals
Total renewable primary energy - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

Acidification (PEF-AP) - [mole H+ eq.]
Resource use, fossils (PEF-ADPF) - [MJ]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPT) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]

Eutrophicat
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]
Total non renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

Non renewable pri

imate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
lonising radiation, human health (PEF-|

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

cC oM
= < WNT331 rroe| ssoson| soreoa| rsspco| 2zsos| ooneoo| sesor| cossoe| msscos] rommon| osocun| vsseo] aseoe| ssseee| smeco| reseor| assens| azces| ramecs| arseor| vsosor| vireoo| vsmeor| ason| aoveos] vereos| reseon| nzeor] somor| rsorf commor| sseor| 2erean| omeoo] oooeoo| acoseo| sseor
=1 )
S < WNT302 rooeos| roteoo| soreea| rsreon| azmeos| ooocco| ssreor| ssscos| smeos| roran| omeoo| rsco| roseon| asscos| smeoo| rens| arieod amew| varees| amor| vseor| vimeco| roowor| aseos| asmees| revea] 1seco] saneor| zcocor| rsacos| soer| zarean| zosen] oooeo| aoocao| omeco| ssoeor
5
2 WNT304 rasei| 1sicoo] sorcos| 1srean| soses| oooeoo] osmeor| soseos| saieos] rorcos| omman| rmeco| 1ascon) asocon| ssocwo| roseoe| arrco| amas| rare| ameeor| vssmor| vmo| soueor| asoeos| awrman| rovcos| roeoo| smcor| awocor| ssseor| soor| coreor| 2mseco| nooeoo) oooeon| omoso| ssueor
©
= WNT332 roreos| rsren| srena| rsreoo| azeos| ooeon| sssear| ssseos| asecor| roisuz| ooomao| raseoo] rascos| ssses| ssmoo| roscos| ssssor| scvews| rorece| smeor| rsscan| rimmoo| sssor| asieon| saseos| ssreor] sssmco| saneon| somor| rsseor| zooman| 2zren| sessoo] osseco| ocomco| avsoo] ssosor
c<
5 < WNT331 aoucos| ses| saoei| rsomoa| rsseos| oooeco| sasor| ssocos| srmeos| sveos| omeo sszeos| assere| ssen| soreos| seseos| omeon| oomeoo| vsvees| romes| zaseor] wooceo| rsoero| trseo] ssseos| seor| rsscos] oooo| sueor| sroeos| aeor| suseor| rsscos] oooeo| aoocao| omeco| arseod
=
2 WNT302 sones| rsumoe| saocon| rooe| roseis| ooomoo) ssscor| asceos| armeos| vacos| ommao| somes| ssere ase| svos| soseos| oomeon| omman| rsvees| 1zmeos| awor| owewo| saseio| imeo| rosos| ssseor| rascos] ooomon| sweor| aroeos| aseor| swseor| roseos] ooomoo) ooomon| omomuo| arseod
5
X WNT304 soneos| rsumoa| sioson| rsmon| roses| ooomoo) ssssor| aoses| armeos| avecos| osman| secmos| sssere assein| aoreos| saieos| ooueon| omean| rivees| 1ameos sssor| osomco| ssseio] vmeio| rseos| ssseor| rsseos] ocomco| sueon| aromon| sseor| ssseon| roseor] oooeco) ocoeco| ososo| arseod
WNT332 soneos| 1oz saocon| reon| rsseve| oooeoo) ssscor| asses| armeos| svacos| omean| smes| assere ssen| soeos| soeos| oomeon| omea| rsvees| 1zmmos| amcor| owewo| saneo| 1men| rosos| soseor| rascos| oooeco| sucor| aroeon| ascor| asseor| roscos] ooosoo] oovecn| omoso| arseos
c 0
o< WNT331 sscor| 1o rmece| asmewe| aorenf ooeoo| osmeor| cwor| sveos| arscos| omoetn| ameos| smeos| 1srof ruscs| roveos| asmo| asscce| ameos| rueco| sueor| omeoo| roeiof overnf roocos| azmeos| socef ooeoo| sueor| arem| sueo| smeor| osoeoe| omeoo] oooeoo| aoocaof sanean
©
S WNT302 ssseor| rasor| rmeos] asmeea| aorerof oomeo| smeor| saseor| sseos| arseos| owocun| asseos| samecs| rsserof russos] roveos| asseon| sescos| smeos] rueco| susor| oseoo| rarerof sserof roocos] ameos| sooese| omeo| sueor| armeos| sueor| smeor| ssvecs| omeco| oooeoo| wooceo| samean
@2 WNT304 soneor| razeor| raseor] asoece| ssrero| ooneco osseor| caseor| ssicos| arseos| owocun| sseos| sameos| rssero| rascos| roreos| aszees| wescoa| szmeos| vaseco| sueor| ooeoo| rorero| sserof toscos] szecs| sooese| ooeco| sueor| armeos| suecor| sweor| ssoeas| omeco| oooeoo| aoocao| sasear
WNT332 ssucos| zmcor| 7asens| eooee| asreio| ooeon| coseor| soscor| swicos| ameos| ooeoo| ssscos| socon| rssero| raseo| ovcor| ssos| aonewe| azmeor| reosce| sucor| aoeoo| rarero| swicro| voncos| ameos| ssocce| ococao| sweor| aricos| swor| seseor| ssocce| osomon| ococao| aoooo] smees
D N~
oo WNT331 2vieos| aooo| assea| soseon| ooneo| ooopco| soseion| sereos| aureoo| aoeson| omeo| vsveor| sosetof viocos] saseoo| soreor| omeon| oomeoo| risees| sossor| seseior| woocco| nroe| rescor] raseoo| raseor] azmeor| woosoo| ssscior| roveos| saseor| riocun| arer| ooomoo| aooceo| oseco| seseor
v
i
o WNT302 2ees| sooo| asmeon| sssean| owoeco| oooeoo] soseon| swreas| 2| asoces| omean| rsveor| sssero) srocon| smewo| someor| oomeon| omean| 7iseo| osscor| seseor| oweo| sraeon) rescor| rescas| raseos| smor| oooeco| asscor| ssreon| soseor| sssean| 2omeor| oooeoo] oooecn| ososeo| aoseon
WNT304 2icee| soioo ascos| ssscan| oooeco| ooomoo] sosson| sorees| aureon) ssocca| omean| raveon| sssero vicon| samcwo| sorcor| oomeon| omman| risses| osseor| ossmor| omewo| sraeon) rescor| rwssas| rassos| seror| ooomon| ascr| ssreos| soseor| ssseoe| 2omear| oooeoo) ooumon| omsio| aoseor
WNT332 2vieoe| aoeoo| asseoa| soseon| oomeo| oooeco| soseion| sereos| aureoo| aoeson| omeo| ssveos| ssserof riocos| soseoo| soreor| omeon| oomeoo| risees| sossor| ssseior| woocco| rraoe| rescor] raseoo| raseorf azmeor| wooeco| ssseier| roveos| saseor| riocn| szrer] oooeoo| aoceo| oseco] seseor
QO <
=0 WNT331 siscos| sercor| sovem| serews| 2rmeo| ooeon| sracor| ssscor| avscos| ameos| oooeoo| 1roeoe| arscos| razees| s ssmeoa| sooeos| saveos| armoe| soor| saseor| aooeoo 2socos| rveos| sareos| arscon| srcce| owoceo| saeor| rocor| ameor| asreor| 1meoe| ooseon| ocomco| aooeoo] zrecon
—
=
(ONS] WNT302 racor| o] awews| sesva| 2w omeso| omeor| asseor| ameos| 2oem| omeao| 1isee| arsess| 1aeoo| 1es| asseca ooosos| smem| wisseef swmos| ameor| awewo| seon) rwews| sassos| sreos| 1meco| ooomoo| ameor| 1xeor| sameor| swem| 1mee| oovean] ameo| oo 2rseaof
hel
= WNT304 smeos| swor| 2weo| seee| aven| oomeco| erseor| aseor| armeos| sseos| osocun| viocos| srseos| vaseos| rsocos| ssseoa| soveos| wzocos| wiseos| ssreas| saseor| oseio| asseoo| rseon| mascos| rseos| 1rscoef oseo| saseor| sseor| azseor| ssmeor| srseenf omeco| oooeo| wooteo| 2rseu
w
WNT332 siscos| sercoe| soem| sercwe| 2veo| ooeon| sracor| ssscor] avscos| ameos| oooeoo| 1rocee| arscos| razees| s asmeoe| soogos| saueos| aroeee| sweor| sascor| aooeoo| 2socos| rveos| sareos| arscos| smcce| owoeeo| saieor| vocor| smeor| asrcor| 1mcoe| oosmon| ococco| aooeoo] zrecon
- WNT331 ocos| 2riea) 2eo] awoe| owoeco| oopoo) mce| aweer| sareos| omeos| oseon| owoeao| rareie) aseii| sae| izoo| ooneon| oseon| vasme| ooomoo) asomor| ososo| asseio] rorcos| azisos| owoeao| 2ameor| ocomcn| asegor| asmeon) asseor| mcon| zanson| ooomoo) ocumcn| ososo| asseer
>
3 WNT302 sses| 2rzeca| ameos| 2moem| oweco| aoeoo) sece| svewr| ozmeoo| omreos| omemn| oweco| ariee mer| smer| oeoo| oomeon| omem| rasees| noomoo] 2socor| omoeo| stero] rameos| azseos| owoeso| 2zmeor| oooece| zeor| ssueon) comor| ssoemn| 2ameor| noomoo] oovece| omoeof soneon
= WNT30- -ssaeos| 2meoe| -2veos| -2roece| oomeoo| ooomoo| ssseae| avor| -azneon| -sereos| osomoo| oovean| svere| rmets| szieee| useoo| ooemn| oomecof tasor| ooean| zsocor| coosoo| asieio| -tozeoo| azseos| oomeof 2zeor| oooeao| 2socor| sroeos| 2eoeor| 4soeor| -2zceor] oooeco| ocosoo| oooeao| soseor
WNT332 socos| 2riee) aeo awoe| owocco| oowoo amce| ameer| sareos| omeos| oseoo| oweao| rareie) aseii| sae| izoo| ooneon| oseon| vasme| ooomoo) asocor| ososo| asseio] rorcos| azisos| owoeco| 2ameor| ocomcn| asegor| asmeon) asseor| mon| zaneon| ooomoo) ocumcn| ososo| asseer

PEP ecopassport 5/5 HAGE-01478-V01.01-EN



